H23 B/KE MR EkXET RBEEH

<K &> K& FE. e | Of.. | REE, | oAER wnm, |EERC,
< KEHA >
1 HEEHIEFRKIESAE (BHE) 150 610 0 610 250
2 HEELoEESAE _ (FFE) 100 500 0 500 50
<ILEpHhA >
3 LE AREHNSIARAE (FHE) 100 400 0 400 0
&t 1510 0 1510 300
100 900 0 900 50
s 100 610 0 610 50
AR 100 290 0 290 0
150 610 0 610 250
150 610 0 610 250
1 4R E#ER (1,510-300) =~ 50+4 = 28 &
2 [RBM (1,510-300) = 1000= 1.2 km
3 Hitk (1,510-300) —1000= 1.2 km
4 HE#R (1,510-300) —1000= 1.2 km
5 FmAlE (1,510-300) x 15=1000000=  0.0181 km2




